



Effectiveness of a Nutrition Education Program in Improving Mothers' Knowledge and Feeding Practices of Infants and Young Children in Sudan

Ekhlas A. I. Mohammed¹*, Zainab Taha², Agba A. A. Gadah Eldam¹, Sohair A. M. Shommo¹, Mariam M. El hidai³

¹Department of Family Science, Faculty of Education, University of Khartoum, Khartoum, Sudan; ²Department of Health Sciences, College of Natural and Health Sciences, Zayed University, Abu Dhabi, UAE; ³Department of Family Sciences, College of Agricultural Studies, University of Sudan, Khartoum, Sudan

Abstract

Edited by: Sasho Stoleski Citation: Mohammed EAI, Taha Z, Eldam AAG, Shommo SAM, El Hidai MM. Effectiveness of a Nutrition Education Program in Improving Mothers' Knowledge and Feeding Practices of Infants and Young Children in Sudan. Open Access Maced J Med Sci. 2022 MarO3; 10(E):776-782. https://doi.org/10.3889/oamjms.2022.8842 Keywords: Knowledge: Practices; Nutrition Education; Program; Nutritional care Intervention of Gramily Science, Faculty of Education, University of Khartoum, PO Box: 102 Omdurman, Kharafourm, Sudan. E-mail: ekhasibrahim72@gmail.com Received: 10-Feb-2022 Revised: 19-Feb-2022 Revised: 19-Feb-2022 Copyright: © 2022 Ekhlas A. I. Mohammed, Zainab Taha, Agba A. A. Gadah Eldam, Sohair A. M. Shommo, Mariam M. El hidai Funding: This research did not receive any financial support

Competing interests: The adults have declarated that no competing interests exist Open Access: This is an open-access article distributed under the terms of the Creative Commons Attribution-NonCommercial 4.0 International License (CC BY-NC 4.0) **AIM:** The aim of the study was to assess the effect of a designed Nutrition Education Program (NEP) on maternal knowledge and practices.

METHODS: A control two groups, quasi-experimental and pre-and post-experimental, were adopted. Data were collected through personal interviews of two groups using a validated questionnaire. The NEP was conducted in three phases. Phase one was the pre-evaluation, phase two was the program's implementation, and phase three entailed post-evaluation of the program.

RESULTS: The results supported the efficient role of the NEP intervention in raising mothers' knowledge and practices towards nutritional care of children under 2 years in Sennar locality. No statistically significant differences were found between the two groups with the controlled variable, mother age, mother education, mother occupation, husband occupation, number of children <5 years, family size, and infant age. This indicates that the two groups were homogenous. No significant difference between the two groups in mothers' knowledge and practices before applying the NEP. The results showed the effectiveness of the NEP in developing the experimental group mother's knowledge and practices, comparing post-test with pre-test in favor of post-test to be statistically significant.

CONCLUSIONS AND IMPLICATIONS: It can be concluded that nutrition education intervention demonstrated its effectiveness in maternal knowledge and practices. The study provided valuable baseline information to develop appropriate training courses and NEPs to raise maternal knowledge and practices toward infants and young children's nutrition.

Introduction

The most critical time for good nutrition is during the first thousand days from pregnancy until a child's second birthday. Caregivers should prepare and feed well-balanced meals with clean hands and dishes and interact with their children to respond to their hunger signals [1].

Every infant and child has the right to good nutrition according to the "convention on the rights of the child." However, undernutrition is associated with 45% of child death [2].

Proper feeding of infants and young children can increase their chances of survival. It can also promote optimal growth and development, especially in the critical window from birth to 2 years of age [3]. Children are the nation's most important resources. Thus, they deserve the best possible nutrition care for their present and future health. Therefore, improving infants and young child feeding practices is of paramount importance to improve the nutrition, health, development of children, and ultimately impacting child survival [4]. Undernutrition is associated with growth faltering, micronutrient deficiencies, delayed cognitive development, and morbidity [5]. The 65th World Health Assembly (WHA) endorsed the comprehensive implementation plan on maternal, infant, and young child nutrition (MIYCN) [6].

The WHA resolution urges member states to put the MIYCN plan into practice by including proven nutrition interventions relevant to the country in maternal, child, and adolescent health services and care. In addition, interventions should ensure universal access, establish, and engage policies in agriculture, trade, education, social support, environment, and other relevant sectors to improve nutrition.

Moreover, many researchers found that nutrition education played an important role in dealing with health problems and raising the level of nutrition knowledge and practices among women in terms of improving food recipes, increasing dietary adequacy and growth, and reducing morbidity [7], [8], [9], [10]. Nutrition education intervention programs include different categories of strategies that focus on nutritional awareness, such as individual counseling, interpersonal communication, and home visits [11], [12], [13], [14].

Manystudies and the human capital theory showed that the educational level and socioe conomic status have more influence than the low attendance of antenatal care visits and therefore play an essential role in combating improper feeding habits and practices [15], [16]. Infants and young children in different remote areas in Sudan, including the Sennar locality where the current study was conducted, might be at risk of undernutrition and other related diseases due to a lack of the Nutrition Education Programs (NEPs) [17], [18].

Reviews of nutrition education provided evidence that children were not born with the innate ability to choose a nutritious diet; instead, their food habits are learned through experience and education, for example, children left to their own choices will not automatically select healthy foods. Their innate preference for sweet foods makes them particularly vulnerable to the highly sugared cereals, soda, and candy marketed to them virtually from birth [19], [20].

According to the Sudan Household Health Survey (2010) implemented by the Federal Ministry of Health (FMH) in the Northern States, the nutritional status of under-five children was reported as 32% underweight, 35% stunted, and 16% wasted. Based on survey results, Sennar State had a high percentage of poor nutrition among children under 5; 42.6% were underweight, 47.1% stunted, and 21.6% wasted [21], [22]. Therefore, Sennar State was identified as one of the most lacking states regarding awareness and practices interventions of NEPs for mothers to improve their children's health and nutritional status.

The findings of the knowledge, attitude, and practices (KAP) study conducted by the FMH Integrated Management of childhood illnesses (IMCI) in the Gabel Moya area in Sennar locality showed that 15.4% of the mothers did not know the advantage of breastfeeding to the infants and young children; 11,8% thought that exclusive breastfeeding should be continued until the 4 months of life; approximately 52.2% practiced breastfeeding till 4 months, whereas 8% continued breastfeeding until 6th months of age. Most mothers (82%) were not aware of the component of the adequate nutrient meal [23].

Mothers are the foremost providers of primary care for children. Their understanding of essential nutrition and health measures strongly influences the care they provide. The aspects of nutrition knowledge include the proper age for introducing solid foods and the type of solid foods, frequency of child feeding, diet during diarrhea, and the mother's perceptions of her child's nutritional status. Mothers' practical nutrition knowledge is essential for child health outcomes [24].

Poor infant feeding practices directly or indirectly contribute to undernutrition, morbidity, and mortality in infants [5]. Due to evidence that nutrition education empowers a mother to maximize her resources, the lack of awareness may cause a faulty diet that would affect the child's health [25], [26]. Therefore, the main goal of nutrition education is to create positive awareness of feeding practices. However, until now, most of the studies conducted on infants and young children feeding in Sudan have been confined to assessing the nutritional status of infants and young children, whereas in-depth studies for the evaluation of NEPs are limited, indicating a clear knowledge gap. As healthy eating habits are established early in childhood, assessing the NEPs is crucial. This study aimed to investigate the effect of a NEP that was implemented to raise mothers' attitudes toward nutritional care of children below the age of 2 in the Sennar locality.

Methods

Study design

A quasi-experimental pre/post design was conducted during July 2014-January 2015 in the Mayerno and El Salaam areas in Sudan's Sennar locality. Mothers of children below the age of 2 were enrolled in the study using a random systematic sampling technique. The participants were assigned into two groups of 136 mothers, the intervention area Mayerno (group A) and group B and the comparison area (El Salaam). A pre-tested structured questionnaire designed by the IMCI community component (KAP) survey questionnaire program was adopted and modified to collect the data related to the objectives of the current study. Ethical approval was obtained from the Ethical Committee, FMH, Sennar State. Additional clearance was obtained from the local health authorities and locality. Informed consent was obtained from the participants, and several measures were taken to ensure privacy and confidentiality throughout the study period by excluding personal identifiers during data collection.

Instruments, measures, and procedures

The questionnaire consisted of three sections:

- Section one: Included general characteristics and socioeconomic demographic information of respondents, for example, (mother age, educational level, occupational for mother and father, family size, and infant ages).
- Section two: Consisted of (30) items about mothers' knowledge about nutritional care of under 2-year-old children, for example,

(breastfeeding, complementary feeding, and feeding methods of children). A score of (zeroone) was given to the answers based on the validity of the answers.

 Section three: Consisted of (8) items each of them is a short answer question to assess mother practices regarding nutritional care of children under 2 years of age. Each correct answer was scored by (one), and each incorrect answer was scored by (zero).

Phases of the study: The study was composed of three phases:

- 1. Phase one (baseline data): Data were collected from the two groups (the experiment and the control groups) through the face-to-face interview method during the home visits to fill the pre-guestionnaire
- 2. Phase two (implementation of the program; intervention phase): The program was implemented in the following steps:
 - 2.1: One day workshop was conducted in the Sennar locality health office to train four nutrition educators and two nutrition officers who helped later in all stages of the study, including the teaching sessions.
 - 2.2: The NEP targeted all mothers of children under 2 years of age in Mayerno units in Sennar locality. The sessions were taught in 4 days following a specific schedule for each group of mothers. Different teaching methods and tools, including training manuals, posters, and pamphlets, were used. At the end of each session, a group discussion was held, followed by the evaluation questions to measure the awareness, knowledge, practices progress, and benefits of the manual
 - 2.3: Seminars were conducted 3 months following the implementation of the program. These seminars summarized the four nutrition education sessions addressed to all mothers to maximize the benefits.
- 3. Phase three (evaluation phase): In this phase, the data related to the indicators of the study were collected using the same methods of data collection used in phase one about the mothers' knowledge and practices toward under 2-year-old children's nutritional care; the same mothers in the pre-evaluation phase were asked in the post-test and the same questionnaire. Secondary data were collected from updated references (books, journals, and the Internet) and relevant previous national and international studies.

Data analysis

Data analysis was conducted using the Statistical Package for the Social Science (IBM

SPSS Statistics for Windows, Version 20.0) [27]. Both descriptive and inferential statistics were applied to analyze the data. *t*-test and Chi-square tests were used to analyze continuous and categorical data, respectively. Alpha Cronbach and Spearman–Brown equations were applied for reliability. Pearson correlation coefficients, t-test for two groups, t-test by pairs, one-way ANOVA, and Chi-square test were also used.

Results

One hundred and thirty-six mothers, with the majority being below 30 years, were successfully interviewed and participated in the study. All mothers were housewives, and most of them had a moderate level of education. In addition, most of the husbands were engaged in free work (Table 1).

There was no significant difference between the two study groups regarding mothers' knowledge and practices before applying the NEP (Table 2).

To determine the significance of the effectiveness of NEP in developing mothers' knowledge and practices when applied at the Sennar locality (post-test measuring), the results of the *t*-test have shown that breastfeeding, children's feeding, foods and feeding gastrointestinal, attitudes, and practices were significant (Table 3).

Similarly, developing mothers' knowledge and practices in the experimental group (comparing post-test with pre-test) showed an efficient effect for the program (Table 4).

The results showed no significant difference in the effectiveness of the (NEP) in developing knowledge and practices among mothers in the experimental group; regarding some socioeconomic factors that may confound the outcomes (maternal education, husbands' occupations, number of children <5 years, and maternal age) (Table 5).

Discussion

To the best of the authors' knowledge, this is the first study that tackled assessing a NEP designed to enhance mothers' knowledge and practices on infants' feeding in Sennar, Sudan. The main findings of the current study were the significance of the NEP in developing mothers' knowledge and practices when applied at the Sennar locality (post-test measuring). Furthermore, the results illustrated a statistically significant effect for the NEP in developing experimental group mothers' knowledge and practices (comparing post-test with

| Controlled variables | Levels | Groups | X ² | Df | р | Statistical inference | |
|---|-------------|----------------|---------------------|-------|---|-----------------------|-------------------------------|
| | | Control, n (%) | Experimental, n (%) | | | | |
| Mother age (years) | < 20 | 17 (12.5) | 13 (9.5) | 0.841 | 2 | 0.657 | The two groups are homogenous |
| | 20-30 | 95 (69.8) | 95 (69.8) | | | | • • • |
| | > 30 | 24 (17.6) | 28 (20.5) | | | | |
| Mother education | Illiterate | 46 (33.8) | 36 (33.8) | 4.135 | 2 | 0.126 | The two groups are homogenous |
| | Moderate | 88 (64.7) | 93 (68.3) | | | | |
| | University | 2 (1.4) | 7 (5.1) | | | | |
| Mother occupation | Housewife | 136 (100) | 136 (100) | 0.000 | 1 | 1.000 | The two groups are homogenous |
| Husband occupation | Laborers | 49 (36.0) | 49 (36.3) | 0.267 | 3 | 0.966 | The two groups are homogenous |
| | Officer | 8 (5.8) | 7 (5.1) | | | | • • • |
| | Free work | 77 (56.6) | 77 (56.6) | | | | |
| | Others | 2 (1.4) | 3 (2.2) | | | | |
| Number of children under 5 years of age | Only 1 | 43 (31.6) | 52 (38.2) | 1.427 | 3 | 0.699 | The two groups are homogenous |
| <i>,</i> , , | 2 | 75 (55.1) | 66 (48.5) | | | | 0 1 0 |
| | 3 | 15 (11.0) | 15 (11.0) | | | | |
| | 4 | 3 (2.2) | 3 (2.2) | | | | |
| Family size | < 9 members | 114 (83.8) | 114 (83.8) | 0.000 | 2 | 1.000 | The two groups are homogenous |

Table 1: Sample demographic characteristics

Table 2: Mother's knowledge and practices in the two study groups before applying nutrition educational program

| Group | Mean | SD | Calculated | df | р | Statistical inference |
|-------|---------------------------------|--|---|--|---|--|
| | | | T value | | | |
| В | 1.49 | 2.54 | -0.767 | 270 | 0.444 | The differences are |
| A | 1.74 | 2.98 | | | | not significant |
| В | 0.91 | 1.40 | -1.535 | 254 | 0.126 | The differences are |
| A | 1.21 | 1.82 | | | | not significant |
| В | 1.96 | 2.38 | 0.703 | 270 | 0.483 | The differences are |
| A | 1.75 | 2.45 | | | | not significant |
| A | 44.3 | 4.45 | | | | • |
| В | 4.66 | 1.78 | 1.494 | 270 | 0.136 | The differences are not significant |
| | B A B A B A A | B 1.49 A 1.74 B 0.91 A 1.21 B 1.96 A 1.75 A 44.3 | B 1.49 2.54 A 1.74 2.98 B 0.91 1.40 A 1.21 1.82 B 1.96 2.38 A 1.75 2.45 A 44.3 4.45 | T value B 1.49 2.54 -0.767 A 1.74 2.98 | T value B 1.49 2.54 -0.767 270 A 1.74 2.98 B 0.91 1.40 -1.535 254 A 1.21 1.82 B 0.703 270 A 1.75 2.45 A 44.3 4.45 | T value B 1.49 2.54 -0.767 270 0.444 A 1.74 2.98 |

SD: Standard deviation.

pre-test) and the post-test measuring. Furthermore, the results showed that NEP significantly affects developing mothers' knowledge and practices when applied at the Sennar locality (Comparing post-test with pre-test).

Table 3: Mother's knowledge and practices in the two study groups, when applied (post-test measuring)

| Variables | Group | Mean | SD | Calculated | df | р | Statistical |
|---------------------------|-------|------|------|------------|-----|-------|-------------|
| | | | | T value | | | inference |
| Breastfeeding (K1) | В | 2.02 | 2.89 | -8.856 | 270 | 0.001 | The NEP is |
| | A | 5.07 | 2.77 | | | | efficient |
| Children's feeding (K2) | В | 0.79 | 1.31 | -12.464 | 221 | 0.000 | The NEP is |
| | A | 3.51 | 2.18 | | | | efficient |
| Foods and feeding GI (K3) | В | 2.50 | 3.45 | -7.729 | 259 | 0.001 | The NEP is |
| | A | 5.43 | 2.77 | | | | efficient |
| Attitudes | В | 45.4 | 4.09 | -5.975 | 270 | 0.001 | The NEP is |
| | A | 48.6 | 4.88 | | | | efficient |
| Practices | В | 4.91 | 1.43 | -2.987 | 270 | 0.003 | The NEP is |
| | А | 5.47 | 1.65 | | | | efficient |

NEP: Nutrition education program, SD: Standard deviation.

For successful intervention programs to be replicated, it is essential to have a complete set of necessary data on implementation. In developing country settings similar to the current study, where

Table 4: Mother's knowledge and practices in the two study groups (*t*-test by pairs to determine the significance of effectiveness of nutrition education program in developing experimental group mother's knowledge and practices)

| Variables | Time | Mean | SD | Calculated | Df | р | Statistical | |
|--|------|------|------|------------|-----|-------|-------------|--|
| | | | | T value | | | Inference | |
| Breastfeeding (K1) | Pre | 1.74 | 2.98 | -11.101 | 135 | 0.001 | The NEP is | |
| | Post | 5.07 | 2.77 | | | | efficient | |
| Children's feeding (K2) | Pre | 1.21 | 1.82 | -10.303 | 135 | 0.001 | The NEP is | |
| | Post | 3.51 | 2.18 | | | | efficient | |
| Foods and feeding GI (K3) | Pre | 1.75 | 2.45 | -12.246 | 135 | 0.001 | The NEP is | |
| | Post | 5.43 | 2.77 | | | | efficient | |
| Practices | Pre | 4.34 | 1.79 | -5.283 | 135 | 0.001 | The NEP is | |
| | Post | 5.47 | 1.65 | | | | efficient | |
| NEP: Nutrition education program, SD: Standard deviation | | | | | | | | |

the resources are limited, and community public health problems are prevalent, the implementation

and evaluation are essential for promoting effective programs, replication, and expansion [28]. The current intervention study aligns with a global focus on infant and young child nutrition [3]. Furthermore, infant and young child feeding are among the prioritized areas specified in Sudan's National Nutrition Strategy [29].

Similar to the current study, researchers found post-intervention increases in nutrition knowledge and good nutrition behavioral changes [30]. In addition, another study showed that the awareness level of pregnant women on healthy nutrition has significantly increased from 3% before the intervention to 31% after the nutritional education intervention (p < 0.001) [31]. Accordingly, sufficient evidence supports that nutritional education intervention positively affects respondents' nutritional awareness.

Apropos of that, the validity of the results revealed no significant differences between the two groups before applying NEP regarding mothers' knowledge and practices such as breastfeeding, complementary feeding, and general and child feeding, t = -0.767, -1.535, and 0.7031, respectively.

As for the homogeneity of the two study groups, there were no significant differences with respect to the main variables; maternal age, mother's education, mother's occupation, husband's occupation, number of children <5 years, family size, and infant age, p < 0.657, 0.126, 1.000, 0.966, 0.699, 1.00, and 0.220, respectively. These results indicated that the two groups were homogenous.

The result showed no significant difference in NEP effectiveness in developing knowledge and practices among mothers in the experimental group according to maternal age, mother's education, husband's occupation, number of children <5 years, and age of infants and followed by two post-tests within 3-week interval. In line with the present study, no correlation was evident between mothers' knowledge and practices of child health-related matters and the level of education, age, or the number of children [16].

The current study results revealed a correlation between the mothers' awareness of nutritional care of children after the implementation of the program and their educational level. Similarly,

Table 5: Nutrition education program effectiveness in developing knowledge and practices among the experimental group

| Factor | Variables | Source | Sum of squares | Df | Mean square | F | Significance | Statistical Inference |
|--------------------|---------------------------------------|---------|----------------|-----|-------------|-------|--------------|-------------------------------------|
| Mother's education | K1 improve | Between | 7.129 | 2 | 3.565 | 0.289 | 0.749 | The differences are not significant |
| | | Within | 1638.635 | 133 | 12.321 | | | - |
| | | Total | 1645.765 | 135 | | | | |
| | K2 improve | Between | 13.879 | 2 | 6.939 | 1.030 | 0.360 | The differences are not significant |
| | | Within | 896.357 | 133 | 6.740 | | | - |
| | | Total | 910.235 | 135 | | | | |
| | K3 improve | Between | 9.256 | 2 | 4.628 | 0.373 | 0.690 | The differences are not significant |
| | | Within | 1652.149 | 133 | 12.422 | | | - |
| | | Total | 1661.404 | 135 | | | | |
| | Practices improve | Between | 7.788 | 2 | 3.894 | 0.620 | 0.540 | The differences are not significant |
| | | Within | 835.829 | 133 | 6.284 | | | 0 |
| | | Total | 843.618 | 135 | | | | |
| Husband's | K1 improve | Between | 56.619 | 3 | 18.873 | 1.568 | 0.200 | The differences are not significant |
| occupations | · | Within | 1589.145 | 132 | 12.039 | | | 0 |
| | | Total | 1645.765 | 135 | | | | |
| | K2 improve | Between | 2.899 | 3 | 0.966 | 0.141 | 0.936 | The differences are not significant |
| | · | Within | 907.336 | 132 | 6.874 | | | Ũ |
| | | Total | 910.235 | 135 | | | | |
| | K3 improve | Between | 25.204 | 3 | 8.401 | 0.678 | 0.567 | The differences are not significant |
| | · | Within | 1636.200 | 132 | 12.395 | | | 0 |
| | | Total | 1661.404 | 135 | | | | |
| | Practices improve | Between | 9.833 | 3 | 3.278 | 0.519 | 0.670 | The differences are not significant |
| | | Within | 833.785 | 132 | 6.317 | | | 0 |
| | | Total | 843.618 | 135 | | | | |
| The number of | K1 improve | Between | 88.275 | 3 | 29.425 | 1.950 | 0.122 | The differences are not significant |
| children under 5 | · | Within | 4043.398 | 268 | 15.087 | | | 0 |
| ears of age | | Total | 4131.673 | 271 | | | | |
| Joaro or ago | K2 improve | Between | 3.247 | 3 | 1.082 | 0.161 | 0.923 | The differences are not significant |
| | | Within | 1805.808 | 268 | 6.738 | | | |
| | | Total | 1809.055 | 271 | | | | |
| | K3 improve | Between | 32.376 | 3 | 10.792 | 0.629 | 0.597 | The differences are not significant |
| | | Within | 4597.091 | 268 | 17.153 | | | 5 |
| | | Total | 4629.467 | 271 | | | | |
| | Practices improve | Between | 6.657 | 3 | 2.219 | 0.523 | 0.667 | The differences are not significant |
| | | Within | 1137.402 | 268 | 4.244 | | | 5 |
| | | Total | 1144.059 | 271 | | | | |
| Mother's ages | K1 improve | Between | 8.181 | 2 | 4.091 | 0.332 | 0.718 | The differences are not significant |
| 5 | itt improto | Within | 1637.583 | 133 | 12.313 | | | 5 |
| | | Total | 1645.765 | 135 | | | | |
| | K2 improve | Between | 17.139 | 2 | 8.569 | 1.276 | 0.283 | The differences are not significant |
| | i i i i i i i i i i i i i i i i i i i | Within | 893.096 | 133 | 6.715 | | | 5 |
| | | Total | 910.235 | 135 | | | | |
| | K3 improve | Between | 19.005 | 2 | 9.503 | 0.770 | 0.465 | The differences are not significant |
| | 1.0 11101010 | Within | 1642.399 | 133 | 12.349 | | | |
| | | Total | 1661.404 | 135 | | | | |
| | Practices improve | Between | 5.169 | 2 | 2.584 | 0.410 | 0.665 | The differences are significant |
| | | Within | 838.449 | 133 | 6.304 | 00 | 5.000 | |
| | | Total | 843.618 | 135 | | | | |

in Khartoum State, researchers reported a strong correlation between high illiteracy and low income with the knowledge and practices of the mother toward exclusive breastfeeding [32].

Strengths and limitations

The methodological strengths of this study include the use of a quasi-experimental pre/post design that allows a reliable assessment of the NEP. Ethical considerations were considered in not allowing the withholding of the NEP to cover all mothers who participated in the program.

However, some limitations should be noted. The sampling of the mothers participating in the study was based on home visits; 10 health workers were recruited during the data collection phase. (house visits). Furthermore, during program implementation, mothers were incentivized to participate. Potential risks may arise due to a lack of double blinding. Parents of the study children and the nutrition counselors allocated to the intervention group may be aware of the allocated arm, which may interfere with the reliability of the results. Another limitation is that self-reporting measurements such as maternal recall of recommended practices may

780

overestimate nutrition outcomes and behaviors due to recall bias.

It is highly recommended to focus on nutritional education programs to raise mothers' knowledge and practices about infants and young children feeding to be implemented in other states in Sudan. The government should support the NEP sector for integrated health packages and should ensure the proper functioning of nutritional health programs and health workers. Good nutrition educational programs which integrate government ministries (health and education) to introduce a section on infant feeding in the nutrition at the higher secondary level to promote knowledge and awareness in this aspect.

Conclusions

The results indicated the effectiveness of NEP in developing mothers' knowledge and practices improving their awareness. The intervention components can be feasibly integrated into existing health services in different areas in Sennar. If successful, the approach used to deliver the nutrition education package could be quickly and inexpensively scaled and disseminated in other parts of Sudan.

Acknowledgment

We would like to express our gratitude to the mothers for their sincere cooperation and the provision of valuable information. Special thanks to the Ministry of Health in Sennar locality staff.

Author Contributions

E.M. designed the study and recruited the participants. E.M., S.S, and M.E. analyzed the data and wrote the manuscript. Z.T. and A.G. contributed to the design of the study, data collection, and manuscript writing. All contributive authors of this original manuscript authorized the final version of the manuscript. All authors have read and approved the final manuscript.

Ethical Approval

Ethical approval was obtained from the Ethical Committee, FMH, Sennar State. Additional clearance was obtained from the local health authorities and locality.

References

- UNICEF. Early Childhood Nutrition-Preventing Malnutrition in Infants and Young Children. New York: UNICEF; 2021. Available from: https://www.unicef.org/nutrition/earlychildhood-nutrition [Last accessed on 2021 Dec 30]. https://doi. org/10.1142/9789814730822_0002
- United Nations Inter-Agency Group for Child Mortality Estimation (UN IGME). Levels and Trends in Child Mortality: Report 2021. Estimates Developed by the UN Inter-Agency Group for Child Mortality Estimation (UN IGME); 2021. Available from: https:// data.unicef.org/resources/levels-and-trends-in-child-mortality [Last accessed on 2021 Dec 30]. https://doi.org/10.1371/journal. pone.0101112
- UNICEF. Infant and Young Child Feeding Adopting Optimal Feeding Practices is Fundamental to a Child's Survival, Growth and Development, but too Few Children Benefit. New York: UNICEF; 2021. Available from: https://data.unicef.org/topic/ nutrition/infant-and-young-child-feeding [Last accessed on 2021 Dec 30]. https://doi.org/10.1016/0091-2182(80)90051-8

- World Health Organization, UNICEF. Global Strategy for Infant and Young Child Feeding. Geneva: World Health Organization; 2003. Available from: http://apps.who.int/iris/bitstream/ handle/10665/42590/9241562218.pdf?sequence=1 [Last accessed on 2021 Dec 30].
- Victora CG, Adair L, Fall C, Hallal PC, Martorell R, Richter L, et al. Maternal and child undernutrition: Consequences for adult health and human capital. Lancet. 2008;371(9609):340-57. https://doi.org/10.1016/S0140-6736(07)61692-4 PMid:18206223
- World Health Organization. First Meeting of the WHO Scientific and Technical Advisory Group on Inappropriate Promotion of Foods for Infants and Young Children, 24-25 June 2013. Geneva: World Health Organization; 2013.
- Caulfield LE, Huffman SL, Piwoz EG. Interventions to improve intake of complementary foods by infants 6 to 12 months of age in developing countries: Impact on growth and on the prevalence of malnutrition and potential contribution to child survival. Food Nutr Bull. 1999;20:183-200. https://doi. org/10.1177/156482659902000203
- Dewey KG, Adu-Afarwuah S. Systematic review of the efficacy and effectiveness of complementary feeding interventions in developing countries. Matern Child Nutr. 2008;4(Suppl 1):24-85. https://doi.org/10.1111/j.1740-8709.2007.00124.x PMid:18289157
- Shi L, Zhang J. Recent evidence of the effectiveness of educational interventions for improving complementary feeding practices in developing countries. J Trop Pediatr. 2011;57(2):91-8. https://doi.org/10.1093/tropej/fmq053 PMid:20558381
- Imdad A, Yakoob MY, Bhutta ZA. Impact of maternal education about complementary feeding and provision of complementary foods on child growth in developing countries. BMC Public Health. 2011;11(Suppl 3):S25. https//doi. org/10.1186/1471-2458-11-S3-S25
 PMid:21501443
- Bhandari N, Mazumder S, Bahl R, Martines J, Black RE, Bhan MK, *et al.* An educational intervention to promote appropriate complementary feeding practices and physical growth in infants and young children in rural Haryana, India. J Nutr. 2004;134(9):2342-8. https://doi.org/10.1093/ jn/134.9.2342
 PMid:15333726
- Paul KH, Muti M, Chasekwa B, Mbuya MN, Madzima RC, Humphrey JH, *et al.* Complementary feeding messages that target cultural barriers enhance both the use of lipid-based nutrient supplements and underlying feeding practices to improve infant diets in rural Zimbabwe. Matern Child Nutr. 2012;8(2):225-38. https//doi.org/10.1111/j.1740-8709.2010.00265.x PMid:22405701
- Penny ME, Creed-Kanashiro HM, Robert RC, Narro MR, Caulfield LE, Black RE. Effectiveness of an educational intervention delivered through the health services to improve nutrition in young children: A cluster-randomised controlled trial. Lancet. 2005;365(9474):1863-72. https://doi.org/10.1016/ S0140-6736(05)66426-4

PMid:15924983

- Shi L, Zhang J, Wang Y, Caulfield LE, Guyer B. Effectiveness of an educational intervention on complementary feeding practices and growth in rural China: A cluster randomised controlled trial. Public Health Nutr. 2010;13(4):556-65. https//doi.org/10.1017/ S1368980009991364 PMid:19706219
- World Health Organization. Major Issues for Nutrition Strategies of Food and Agriculture Organization and WHO. WHO International Conference on Nutrition. Geneva: World

Health Organization; 1992. p. 12-23. https://doi.org/10.18697/ ajfand.52.who-2

 Al-Ayed IH. Mothers' knowledge of child health matters: Are we doing enough? J Fam Community Med. 2010;17(1):22-8. https// doi.org/10.4103/1319-1683.68785

PMid:22022667

- 17. Mahgoub F. Current Status of Agriculture and Future Challenges in Sudan. Sweden: Nordiska Afrikainstitutet; 2014.
- Ahmed MA, Massaad SO, Abdalla KO, Omar SM, Adam GK. Protein energy malnutrition in children at Gadarif Eastern Sudan. J Nutr Food Sci. 2019;9:758. https://doi. org/10.35248/2155-9600.19.9.758
- Chou SY, Liu JT, Grossman M, Joyce T. Parental education and child health: Evidence from a natural experiment in Taiwan. Am Econ J. 2010;2:33-61. https://doi.org/10.3386/w13466
- Contento I. Review of nutrition education research in the journal of nutrition education and behavior, 1998 to 2007. J Nutr Educ Behav. 2008;40(6):331-40. https://doi.org/10.1016/j. jneb.2008.06.001

PMid:18984488

- 21. Sudan Go. Sudan Household and Health Survey Second Round 2010: Summary Report; 2010.
- Abu-Manga M, Al-Jawaldeh A, Qureshi AB, Ali AM, Pizzol D, Dureab F. Nutrition assessment of under-five children in Sudan: Tracking the achievement of the global nutrition targets. Children (Basel). 2021;8(5):363. https://doi.org/10.3390/children8050363 PMid:34062925
- Sudan Go. Federal Ministry of Health (FMH)/Integrated Management of Childhood Illnesses (IMCI) Community Component). Assessment of Mothers' Knowledge, Attitudes and Practice towards Selected Key Family Practices in Gabel Moya area, Sinnar Locality Sinnar State; 2004.
- Appoh LY, Krekling S. Maternal nutritional knowledge and child nutritional status in the Volta region of Ghana. Matern Child Nutr. 2005;1(2):100-10. https//doi. org/10.1111/j.1740-8709.2005.00016.x

PMid:16881885

- Gamble J. Why nutrition matters in healthcare outcomes. Ochsner J. 2008;8(2):61-4.
 PMid:21603486
- Salehi M, Kimiagar S, Shahbazi M, Mehrabi Y, Kolahi A. Assessing the impact of nutrition education on growth indices of Iranian nomadic children: An application of a modified beliefs, attitudes, subjective-norms and enabling-factors model. Br J Nutr. 2004;91(5):779-87. https://doi.org/10.1079/BJN20041099 PMid:15137930
- 27. IBM. IBM SPSS Statistics for Windows Version 20.0, Armonk, USA: IBM; 2011.
- Robert RC, Gittelsohn J, Creed-Kanashiro HM, Penny ME, Caulfield LE, Narro MR, *et al.* Implementation examined in a health center-delivered, educational intervention that improved infant growth in Trujillo, Peru: Successes and challenges. Health Educ Res. 2007;22(3):318-31. https//doi.org/10.1093/ her/cyl078

PMid:16945983

- 29. Salih OA, Khattab AG. Nutrition policy for Sudan and strategy for implementation. Ahfad J. 2007;24:2.
- Kulwa KB, Verstraeten R, Bouckaert KP, Mamiro PS, Kolsteren PW, Lachat C. Effectiveness of a nutrition education package in improving feeding practices, dietary adequacy and growth of infants and young children in rural Tanzania: Rationale, design and methods of a cluster randomised trial. BMC Public Health. 2014;14:1077. https//doi.org/10.1186/1471-2458-14-1077 PMid:25318980
- Fallah F, Pourabbas A, Delpisheh A, Veisani Y, Shadnoush M. Effects of nutrition education on levels of nutritional awareness of pregnant women in Western Iran. Int J Endocrinol Metab. 2013;11(3):175-8. https://doi.org/10.5812/ijem.9122 PMid:24348589
- Hana HM. Knowledge Attitudes and Practices of Mother toward Exclusive Breastfeeding in Soba Ei-Aradi Community [M.Sc Thesis]. Sudan: University of Ahfad University for Women; 2008.